AF-650 GP™ & AF-600 FP™
Panel Through Mount Kit

f G

a product of
ecomagination

imagination at work



‘ AF-650 GP/AF-600 FP Panel Through Mount Kit

1 Mounting Instructions

1.1 Introduction

The Panel Through Mount Kit may be used where the heatsink can be cooled by an external air stream, or where there is a wish to use a separate air duct. The
electronics are sealed from the external air by use of the mounting flange and sealing gasket, whereby the electronics are housed within the Keypad, while the
heatsink protrudes through the panel. Using these kits removes 70% of the heat from inside a panel. Please see the relevant drive instruction manual for watt

loss information.

NOTE!

Backplate and fan must be mounted at all times, when drive is put in an air duct.

The gasket offers a dust and water tight seal to IPS5/NEMA 12.
The ambient temperature, on both the Keypad side, as well as inside the duct must not exceed max. amb. temp. for the drive.

1.2 Ordering

The kit is available in 5 sizes to suit unit sizes 15, 21, 22, 31 and 32.
Panel Through Mount Kits consist of gaskets and flanges.

Drive size Panel Through Kit Backplate steel Backplate stainless steel
GE Cat # (separate delivery) (separate delivery)
GE Cat # GE Cat #
Unit Size 15 OPCPMK15 OPCBPS15 OPCBPSS15
Unit Size 21 OPCPMK21 OPCBPS21 OPCBPSS21
Unit Size 22 OPCPMK22 OPCBPS22 OPCBPSS22
Unit Size 31 OPCPMK31 OPCBPS31 OPCBPSS31
Unit Size 32 OPCPMK32 OPCBPS32 OPCBPSS32

1-1



1

1.3 Preparation

1.3.1 Preparing the Panel Cut-Out and Fixing Holes

AF-650 GP/AF-600 FP Panel Through Mount Kit

First stage of installation is to make the cut-out and fixing holes in the required position of the panel in accordance with the following:

Cut-out for Panel Through—Mounting:

14Q

14Q

155

min. 150 mm

424

444,592
155

155

| ——Remove material

10x ¢9.2

For steel blind
rivet nuts M6x30
(flat head)

26312

min. 150 mm

Figure 1.1: OPCPMK15
For AF-650 GP 230V to 5HP, 460/575V to 10 HP
For AF-600 FP 230V to 5HP, 460/575V to 10HP.

130BA762.10

1-2



AF-650 GP/AF-600 FP Panel Through Mount Kit

Cut—out for Panel Through—Mounting:

140 140

‘ /—Remnve material

-
fe |

o, oq o

i 9 | | 9 10x ¢9.2

5 - T T for steel blind rivet nuts

3 M6x30

(flat_head)

49/

242
261%¢

150 mm,

min

130BA690.10

Figure 1.2: OPCPMK21
For AF-650 GP 230V, 7.5-10HP, 460/575V 15-20HP
For AF-600 FP 230V 7.5-15HP, 460/575V 15-25HP.

1-3



AF-650 GP/AF-600 FP Panel Through Mount Kit

Cut—out for Panel Through—Mounting:
g
g
g
140 140 n
g
g
d \
IS\l /—Remuve material
//
~g [tel
1S b
¢ 4
g
q 4 10x 9.2
for steel blind rivet nuts
M6x30
(flat head)
(@)
N
g
g
242 d
wny
261%¢ T
9
g
130BA693.10
Figure 1.3: OPCPMK22
For AF-650 GP 230V, 15HP, 460/575V 25-30HP
For AF-600 FP 230V 20HP, 460/575V 30-40HP.




AF-650 GP/AF-600 FP Panel Through Mount Kit

Gt

uT

10x 9.2
for steel blind rivet nuts

(flat_head)

emove material

N

W 5T U

170

N

////////////J/////////
AOUONRRNNNNNNNANNNNANNANANYN

130BA696.10

1-5

AAMNMNIIIII

ALY ///
//J.///////// ANTRLRTA TR

AN

— — -4 — — D — —

i

EN

T

15
325.75%%

170

Cut—out for Panel Through—Mounting:

oct

02 02 82

7669

For AF-650 GP 230V, 20-30HP, 460/575V 40-60HP
For AF-600 FP 230V 25-40HP, 460/575V 50-75HP.

Figure 1.4: OPCPMK31




AF-650 GP/AF-600 FP Panel Through Mount Kit

Cut—out for Panel Through—Mounting:

10x $9.2
for steel blind rivet nuts
M6x30
(flat head)

Remove material

W OGT I

SOLL

Q0

- —

WG] 0w

AOONNNNARRNNNNANANN

N

/////////////////7//////// NN\ N

ANNNINNNNNRNNNAN

N

ARRAR R AR AR R NS /////////ﬁ
/////////ﬂ////////

N\
N

00

N

H///////// NNNNNNNNN

AOONNNNNTRINNNNNNNANN

///////////

AN N

AN

ANNRNRNNNNNT (N
N e

N
N ///
N
//
N

37

35
386.75+ 2

STl

SIT

S

130BA699.10

Figure 1.5: OPCPMK32

For AF-650 GP 230V, 40-50HP, 460/575V 75-100HP
For AF-600 FP 230V 50-60HP, 460/575V 100-125HP.

Care should be taken to ensure the cut-out dimensions are accurately followed and that sharp edges are removed.

1-6



AF-650 GP/AF-600 FP Panel Through Mount Kit

1.4 Assembl
Y 1

1.4.1 Assembly of Mounting Flange to Drive

Figure 1.6: Fitting of sealing

The flange should now be assembled to the drive using the supplied screws and captive washers. The screws should be tightened to a torque of 2.2-2.5 NM, using

a Torx-20 tool.

NOTE!
If the drive is to be mounted through the front of the panel, the flange must be assembled so that the raised edge of the flange is uppermost (towards the
electronics). If the drive is to be mounted from the rear of the panel, then the flange should be fitted with the raised edge facing away from the electronics.

1-7



AF-650 GP/AF-600 FP Panel Through Mount Kit

Figure 1.7: OPCPMK15

Drive_main_dimensions and weight:

332 mm
o o o
© ©

o o
£
£
o
b

o o

o o o

= 120 mm———=80 mm—|

&

130BA763.11

Drive main dimensions and weight:

151 mm——t—=—108 mm—

332 mm
° 0 e
9
5
.’D
K
“lhe
°
St =
Sl
%l .
)
by o
. SR o 0 g
°
oo
oo
= mk
° °

=

570 mm

Figure 1.8: OPCPMK21

=
130BA691.11

Drive_ main _dimensions and weight:

332

v o

740 mm

Figure 1.9: OPCPMK22

Ny

f=—— 151 mm———— 108 m

|

130BA694.11




AF-650 GP/AF-600 FP Panel Through Mount Kit

Drive main dimensions and weight: Drive_main dimensions and weight:

386 mm 448 mm - 161 mm

— 173 mm I

5 5 5
©) DC-| DC+] @
© DC+]| @
°
f
o E A |
I i
<y f (=4 i =
- o .
o 9D ; @ . o © N © -
b 5
| 2 G 7 ™
© 5 o | J
o, o ° © € ] -t
Q £ 0203 N 8 o L L ~
) o q
o[[o]
° o o °
o|[o] of|[o]
L) SHENEIC) 2
o o [[o]|el{ o
i o (o || (P o (b (poj
D @D e
¥ ° oo © Jun woo non
nmn \eeE e ° . o oo
°
° o o o o o i

130BA700.10

130BA697.10

. Figure 1.11: OPCPMK32
Figure 1.10: OPCPMK31

Once the flange has been assembled to the drive, the unit can be presented to the cut-out in the panel. The heatsink can be carefully positioned through the cut-

out, taking care not to damage the gasket and the unit can be secured using suitable nuts and bolts through the fixing holes.

Be aware that the plastic cover must be mounted for the kit to comply with CE and UL requirements.

Assembly of mounting flange to drive with cover. The cover will provide IP21 on the electronics side:

4x

M4x12mm
(2.2-2.5Nm
Torque value)

4x M4x20mm
(2.2-2.5Nm
Torque value)

8x
6.5xB5x4mm

N

2x M4x16
(2.2-2.5Nm
Torque value)

Blind plug 1308B253.11
130BA764.11

Table 1.1: OPCPMK15

1-9



AF-650 GP/AF-600 FP Panel Through Mount Kit

2;

mibe sire bt He spasies l\-_|./

we arbeled mn shean

Ilnsbradime ks Bafe wparer

T — - '.::, | |
= - | 1 .
M = - = - wilk rLlu widkdj
= —— 127 - 23 e Terqes salai
"'I, |

by Mg

L E

sabe sare bhed Bhe apeern
- f "'u are eriepfol @ abser
/

A\
! \ Wiwidrabisn shuns righl bask af igaves
£
foo
=)/

130BB254.10

1-10



The instructions do not purport to cover all details or variations in equipment nor to provide for every possible
contingency to be met in connection with installation, operation or maintenance. Should further information be
desired or should particular problems arise which are not covered sufficiently for the purchaser’s purposes, the
matter should be referred to the GE company.

AF-650 GP and AF-600 FP are trademarks of the General Electric Company.

GE Consumer & Industrial
41 Woodford Avenue
Plainville, CT 06062

www.geelectrical.com/drives

imagination at work

AR TSR AT O
* M 3 838 U 2 2 2 =

eDET-659a



